Algebra 1: Unit 6, lesson 6, Notes: Slopes of parallel/perpendicular lines, graphing linear inequalities

busses that the team uses when traveling. T-shirts cost $10 and blankets cost $25.
The booster club has set a goal of making $2000 at each home game.

How many T-shirts and blankets does the club need to sell in order to meet their goal?
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a. letx= X 0¥ /(“S\\N:ls

a.  Write an expression for the amount of money raised from T-shirt sales: 10x

b. Lety=_% of bUMg‘[S

a. Write an expression for the amount of money raised from blanket sales: 25y

C. Write an equation that represents the sales goal: 10 )(, ¥ 26 5 - w@()

d. Determine if the club will meet their goal if they sell 50 T-shirts and 50 blankets. Explain.
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e. Determine if the club will meet their goal if they sell 100 T-shirts and 40 blankets. Explain.
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f.  Calculate two additional ordered pairs which would be solutions.
Label the axes and graph the equation (use the ordered pairs or rewrite part c in function form).
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S0 how many T-shirts and blankets does the club need to sell in order to meet their goal? * 5““\;(5
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Part 1: Introduction: The sports boosters club is selling t-shirts and blankets at the football games to afford tm\.
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At the . " ]
away games, the club has a goal of earning $1000. Create an equation that represents this goal

b. Onthe i 'DX J 25) = 1000
same coordinate plane as above in a different color, graph this equation. o
C.  Write each of the equations in function form: z 5 @)
Function1: (Ix+ 254 = 2000 —10X  ~3 }?‘j’ —}OX «100° = <j -«7/ x 3
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Function 2; -~ - - (a'a)® = -2 + 1Y
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What do you notice about these equations? - o |
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Parallel Lines: Two lines are parallel if
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Identify the kinds of lines you see in "the image. ,;%m .,:l' o perpundtidar ‘\N will kst
%3 ' d slope of ¥ 57”‘1

Example 1: Determine whether the graphs of each pair of equations are parallel, perpend:cular, or neither.
Explain your reasoning. Then, graph the equations to justify your response. .
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Example 2: Find the slope of the line perpendicular to

the equation of the line given;

then, find the slope 0

—
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line thag is parallel to the graph. cx_3y-8=0 4 dy
a.y=5x+7 s +% -X :’\ﬁ
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Part 3: The sports boosters club is selling t-shirts and blankets at the football games to afford the charter busses

the team uses when traveling. T-shirts cost $10 and blankets cost $25.

The booster club has set a goal of making at least $2000 at each home game.

How many T-shirts and blankets does the club need to sell in order to meet their goal?

a. Compare the set up to part 1 to the set up of part 3.

m)( + 253 @ZOOO

b. How would this be represented algebraically? Do so.

C. Recreate the graph from the previous page. 0

d. Identify four ordered pairs that are solutions to the

inequality (they have to make a minimal sum ;f M
2000). L
X y Calculations that justify it's a solution.
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e. Are the points that you identified on the graph the only solutions that make this

many solutions are there?
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/ Graphing a two-variape linear inequalit

a coordinate plane, except

_ " : equation on
Y ona coordinate plane is similar to graphing a two-variable linear q

e [De i :
pending on the Inequality sympol, the line could be...
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pending on the inequality sympol, the region that represents the solutions....
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How to graph a linear inequality in two variables:
a vy >fx % 5'& 1. If necessary, rewrite the inequality b. 3x+y<7
et B=5 in_Tundmo g)(lm Y= -3¢ -3r
o . f." -3x ""q’
A ; 2. Identify the S(oPe and 5 3
(N T epl U~ nitentesT .
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L ¥ 3. Plot the points for the boundary ¢
- line.
H-1=H \
+—— 4. According to the \Q.. sign,
@ / T connect points with a Das¢ed or | \ =
o ZH 10 line. X
5. Shade the SOLTION region. \
v > SM&L alotre i
L Shoda Yoelew .
Examples: Graph the following inequalities. =~ Ll e _ e
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Exit Ticket: Compare y >>x + 4 and 3y + 2x = 6.
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